Kuta Software - Infinite Algebra |
Factoring Trinomials (a> 1)

O Factor each completely.

1) 3p*-2p-5

3) n*-8n+4

O

5) 22+ 1lv+5

7 7a® +53a+28

@

Name

Datc

2) 212 +3n-9

4) 50  +19n +12

6) 2n* +5n+2

8) 9k? + 66k + 21

Period



9) 150> =270 -6

11) 4n* =150 -25

13) 4n* - 17n + 4

15) 6x% +37x+6

17) 6n> +5n-6

10) 5x* - 18x+9

12) 4x% - 35x+49

14) 6x* +7x—49

16) —-6a* -25a-25

18) 166* + 60b - 100
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Factoring By Grouping Date Period
OFactor each completely.

1) 8% —64r +r-8 2) 12p° -21p* +28p - 49

3) 12x° +2x2 - 30x-5 4) 6v* —16v2 +21v— 56

5) 63n° + 54n* - 1051 - 90 6) 21k — 84k + 15k — 60
O?) 25v> + 5v% + 30v + 6 8) 1051 +1750% = 751 — 125

9) 96n° — 84n* + 112n - 98 10) 28v* + 16v* —21v—12

11) 4* - 12v* =5v +15 12) 49x° — 35x* + 56x - 40

13) 24p3 +15p* - 56p - 35 14) 24r3 — 641> —21r + 56



15) 56xw + 493k — 24 yw — 21 yk? 16) 42mc + 36md — Tn’c — 6n’d

17) 12x%0 4 3x%v + 28yu + Tyv 18) 40ac® + 25ak* + 32bc* + 200k°
19) 12bc — 4bd - 15xc + S5xd 20) 16min —4m> + 28n ~ Tm

21) 56xy—35x+ 16ry - 10r 22) 21xy + 15x+ 35ry + 25r

23) 5a%z — 4a’c + 15xz — 12xc 24) 4xy + 6 —x - 24y

25) 21xy - 126* + 14xb — 18by 26) 9mz - 4nc + 3mc— 12nz

27) 28xy + 25+ 35x+ 20y 28) 30uv + 301 + 36u* + 25v
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Factoring Special Cases

Factor each completely.

1) 160 -9

3) 16h* —40b + 25

5) 9x% -1

7 7t =100

9 k*-36

Name

Date

2) 4m* - 25

4) 4x* —4x+1

6) n* 25

8) a*-9

10) n* - 49

Period



11) 98n% - 200 12) 3+ 6b+ 3b*

Q
13) 400 ~ 36v* 14) 100x> + 180x + 81
15) 107> + 100n + 250 16) 49n* - 56n + 16
17) 49x% - 100 18) 1-/°
19) 10p° - 1960p 20) 343b* - 7b*
21) 81v* - 900v* 22) 200m* + 80m> + 8m?>
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Solving Quadratic Equations by Factoring Date
Solve each cquation by factoring.
) {(k+1)}k—-5)=0 2) (a+1)@a+2)=0
3) @k+5)k+1)=0 4) (2m+3)4m+3)=0
5) x’ = 11x+19=-5 6) n* +7n+15=5
7 n*—10n+22==2 8) n”+3n-12=6
9) 6n’-18n-18=6 10) 712 = 14r=-7

O

Pericd



1) n* +8n=-15

13) —4k* - 8k — 3=-3 - 5k*

15) 3r* = 16r-7=5

17) 7k* -6k +3=3

19) 7x* +2x=0

21) 8x% +21=-59x

12) 572 =447+ 120==30+11r

14) b*+5b-35=3b

16) 66> —13b+3=-3

18) 35k —22k+7=4 )

20) 106*=27h-18

22) 15a*-3a=3-7a



